Oskoyi Ballbearing Company

LX SERIES Sstainless Steel Feet

CODE o | e e M
LX 50 1050 50 | M10x50 5 | 35 | 300 o B
LX 50 1010 50 | M10x100 | 100 | 35 | 300 ‘ -
LX 50 1250 50 | M12x0 5 | 35 | 300
LX 50 1210 50 | M12x100 | 100 | 35 | 300
LX 50 1610 50 | M16x100 | 100 | 35 | 300 |
LX 80 1050 80 | M10x50 5 | 35 | 750 ] I
LX 80 1010 80 | M10x100 | 100 | 35 | 750
LX 80 1250 80 | M12x0 5 | 35 | 750 T
LX 80 1210 80 | M12x100 | 100 | 35 | 750 |
LX80 1215 80 | Mi2xiso | 150 | 35 | 750 b
LX80 1610 80 | M16x100 | 100 | 35 | 750 | RN
LX80 1615 80 | M16x150 | 150 | 35 | 750
LX80 2010 80 | M20x100 | 100 | 35 | 750 § | \
LX80 2015 80 | M20x150 | 150 | 35 | 750 FV /h
LX10 1050 100 | M10x50 50 | 35 | 1000 ‘
LX10 1010 100 | M10x100 | 100 | 35 | 1000 L D N
LX10 1250 100 | M12x50 50 | 35 | 1000 '
LX10 1210 100 | M12x100 | 100 | 35 | 1000
LX10 1215 100 | M12x150 | 150 | 35 | 1000
LX10 1610 100 | mMi6x100 | 100 | 35 | 1000
LX10 1615 100 | M16x150 | 150 | 35 | 1000
LX10 2010 100 | M20x100 | 100 | 35 | 1000
LX10 2015 100 | M20x150 | 150 | 35 | 1000

Stainless Steel Feet
Stainless steel base leveling feet.
Anti-slip rubber,black NBR80 shore.

(021) 33913364 - 33951660 : wsli ¢
(021) 33985603 : uuSS PR




	Page 2

